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119A Spring 2020 Midterm exam

NAME (acn Gim

The questions sum up to 80 points. You get 20 points just for submitting the exam. (Total = 100 pts)

The midterm exam is due on Monday, May 11 at SAM. No late submission will be allowed.
We can answer to clarification questions via email until Friday, May 8 at 6PM. After that, we'll not.
answer to any questions regarding the exam.

You can either handwrite your answer and scan it or type directly on the .pdf file.

1 Short Answer (10 pts)

(1) Please explain why phonologists posit abstract underlying representations for words.
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2 Contrast and allophones (20 pts)

The following data from Ganda exemplify the complementary distribution of [r] and [1].

kola ‘do’ wulira ‘hear’ oluganda ‘Ganda language’
wawa:bira ‘accuse’  olulimi ‘tongue’ lagira ‘command’ -‘DJ_J%(—]/
ebendera  ‘flag’ lu:la ‘ruler’ le:rwe ‘railway’ 0—a [1-4
safali ‘safari’  lwana ‘lwana’ bera ‘help’ a-' 5: Ja
bu:lira ‘tell’ dukira ‘remember’ lja ‘eat’ va -t e
erjato ‘canoe’ lu:la sit? omuliro  ‘fire’ 0 /(? v
omugole  ‘bride’  effirimbi  ‘whistle’ lumonde  ‘sweet potato’ V! \
emme:ri ‘ship’ eddwaliro ‘hospital’  eraddu ‘lightning’ :' € / W
v-a

(2) State a generalization about where [r] and [1] are found.

[\] 19 dovnd in wocd Snikal pos‘.i;ms\ml boAh L] and [ ore 4ound

in bedween vowels.
(3)  Which allophone is more basic (= underlying form) in Ganda, [r] or [1]? Explain your answer.

C17 15 mere Wit gine 4 iS5 €and in Yhe Mo general €nvinmenis (ot the begnary
after a yorietyod vowels)  lile Ced isdawnd atlec Lead dense  vore's:

(4)  What are the underlying representations for:
‘sit’ \gg‘, la ‘whistle’ 2 {£\imb; ‘accuse’ \mw‘twa ‘command’ \aai\g

(5) Write a rule for deriving the distribution of Ganda liquids. Use distinctive features.
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3 Underlying representations (25 pts)

The following words are some examples of numerals in Tibetan.

&ig ‘one’ &u

i four' dugdig
na  ‘five’  ubfi
gu  ‘nine’ guna

(6) What kind of syllables does Tibetan have? Sta

(as in {(C)VC?).

(ten)
‘eleven’
‘fourteen’
‘fifteen’

(Do)

(7) What is the order of mo
(e.g., 40)?

d;urQu ‘nineteen’

[ibdu  ‘forty’
nabku ‘fifty’
gubdu ‘ninety’

41k
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te schematically using the C/V bracket notation

rphemes in Tibetan numerals for teens (e.g., 14) and for multiples of ten

((mW‘*"M’lw)

147 lO + X hece X.‘SMQEL““O” X 'HO where Xy anonber
(‘Oﬂ\l«‘oq.((o L\.)

(8) State a descriptive generalization about the phonological alternation you see in this problem.

/&U/Ottu‘s in word- ety ) yos'--kuﬂ!\af\(\, /)333(// o(CUs C[gewhdc (,-'rl nen-weid inita)

tem/4 +0 9. (L{ (0)

o ikiong )
(9) What are the underlying representations and allomorphs for:
UR Allomorphs
‘one’ Q& ; 3 é,) ;/q
“ten’ by b
“four’ Y¢8 \i
“five’ na 0la
[ e ] Y
nine fay ay
7 7

(10)  Write the rule that derives this pattern.

Congocan) Clugher

Delchion
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4 Rules and rule interactions (25 pts)

Th i : e
¢ following pgadlgms from Catalan (simplified for this question) show evidence of two rules.

:l((:j(c 58 Eig(:g 9|°5§ Masc sg Fem sg Gloss
£y e ‘that : sayu soyuro ‘sure’
nude sorado sorodoro ‘reaper’ i

Jop Jopo ‘drenched”  sipil sipilo ‘civil’ Lgd
ospes aspesd ‘thick’ for fort ‘strong’ i pe
‘t’;f ?atf 9 ‘short’ sor (sorda ‘deaf’

o ‘all’ san santo ‘saint’
pok poko ‘little’ olpi olpifid) ‘albino’
mal malo ‘bad’ pla pland ‘level’
kru krua ‘raw’ sore Sorgiio) ‘calm’
askep askepa ‘shy’ al alto ‘tall’
sek seko ‘dry’ prufun prufundo ‘deep’
gros grosa ‘large’ kur kurto ‘short’
kof kofa ‘lame’ ber (berds, ‘green’
brut bruto ‘dirty’ kolen kolenta ‘hot’
suflim suflima ‘sublime’ fokun fokundo ‘bad’
maksim maksimo ‘maximal’ dosen dosenta ‘decent’

(11) What are the underlying representations for the masculine forms of:

‘all’ * ol' ‘sure’ Su;/“( ‘civil’ Sf? il

‘strong’ 5 ‘level’ l()\ar\ ‘deep’ oc i

(12) State the two rules of Catalan in prose.

Rule I: \\focd _-Gm\,ﬂon—\d‘((a,a\wkgomwﬁ are Jeleled,

B
Rule 2: \Nod (g | on-Shedotpon-cuant A et M low congpnsrta) Sonowrls dg deletes

(13) Now formalize your two rules in terms of distinctive features, and give them names.

Name of the rule Rule with distinctive features
Rule 1 \ : Yorarani
|‘/O CO\ L)e [C{ICI/] {\-{»q \\fl)l“( ’_‘ﬂ ¢ /,/_'H'
S 17 LY
Rule 2 4
S Detgan| | 54t 1
Po ot Jeldin { ~Sond(qnt- : [”f 50’\0’0,’{] gl
— A‘*_ (O‘\.(/j"r'l"
(continue on next page)
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(14) How are these rules ordered with respect to each other? Support your answer with a derivation for

masuline forms of ‘all’, ‘sure’, ‘civil’, and ‘strong’ below. What kind of interaction is this?

Rule ordering type: Cmr\u(ca&w}

(15) Now, show a derivation with the opposite (incorrect) order and give the hypothesized surface forms

‘all (masc.)’ ‘sure (masc.)’ ‘civil (masc.)’  ‘strong(masc.)’
sl o} Caviie: 1<k {Orf
“\‘\kb\b( Sorgend et = \dl; Y A i
Pod- Soniant \}’U.{n = = - -GDr
rineigh fol Gayu 561 €0

3

that the opposite (incorrect) order would produce. What kind of interaction is this?

‘all (masc.)’  ‘sure (masc.)’ ‘civil (masc.)’  ‘strong(masc.)’
bk tol CayFen | sii £t
Roct-Sonvand Doleliy T = i £y¢ t

| A\ S Din | — a\y S )
Surface form ol qu i < Ie] ) .,(3

Rule ordering type: FQQ&HU)
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